
6-4 FORMS 1040EZ AND 
1040A

Advanced Financial Algebra



HOW DO TAXPAYERS REPORT THEIR 
INCOME TO THE GOVERNMENT?

• Most people pay their tax regularly through payroll deductions.

• The employer withholds federal, state, and local taxes from each 
paycheck.

• After you get your W-2 form from your employer, you need to 
determine whether you overpaid (and get a tax return) or did not pay 
enough and have to send the government more money.



BASIC IRS TAX RETURNS

• Form 1040EZ (short form)

• Form 1040A

• Form 1040 (long form)

•NOTE:  For 2018 taxes, tax forms were “shortened” to 
just the Form 1040.



EXAMPLE #1

• Elizabeth is a magazine food editor.  She received a W-2 
form and a 1099 interest form from her bank.

• What is her taxable income for the year if she is single?



EXAMPLE #1 SOLUTION

• Her wages, tips, and other compensation from her W-2 box #1 was 
$83,600.00.

• Her interest from her bank account was $956.

• Therefore, her adjusted gross income = $83,600 + $956 = $84,556 



ENTER EXAMPLE #1 SOLUTION ON 1040EZ

• See how the wages, interest, and total should be entered on her tax return below.  The
“new” 1040 forms look a little bit different, but the idea is the same.



EXAMPLE #2

• What is Elizabeth’s tax 
responsibility?

• Example #1 said that she is 
single, so when you look at the 
appropriate line, it says that her 
tax is $14,363



EXAMPLE #3

• Does Elizabeth get a refund or does she owe the government
more money?

• How much?



EXAMPLE #3 SOLUTION

• If you look back at her W-2 from example #1 (here is part of it below), it
shows that her employer withheld $15,884.00 from her gross pay.

• Since she only owes $14,363 according to example #2, she paid too 
much and will get a refund of $15,884 - $14,363 = $1,521



EXAMPLE #5

• Kenya and Robin Omar are married with one child so they claim 3 deductions on 
their W-4 form.  Their W-2 forms are below.

• Round to the nearest dollar to determine their adjusted gross income if they received 
$987 in interest on bank deposits and $1,200 in stock dividends.



EXAMPLE #5 SOLUTION

• I circled their gross incomes on the previous slide.  

• Kenya’s was $52,126.76 which rounds to $52,127.

• Omar’s was $65,120.97 which rounds to $65,121.

• Their total income is $52,127 + $65,121 + $987 in interest 
and + $1,200 in dividends = $119,435

• They have no adjustments to make to their income.



ENTER EXAMPLE #5 SOLUTION ON 1040A

• You will be filling out forms like this on your test.  Please read through the lines and 
make sure that you understand where the numbers go. The “new” 1040 forms look a 
little bit different, but the idea is the same.



EXAMPLE #7

• Do the Omars get a refund or do they owe the government 
more money?

• How much?



EXAMPLLE #7 SOLUTION

• If you look back at their W-2s from example #5 (see partial below), it shows that their 
employers withheld $8,765.99 and $6,198.65 from their gross pay for a total of 
$14,964.64.

• Since they owe $15,294 according to example #6, she paid too little and will have to 
send the government more money I the amount of $15,294 - $14,965 = $329.



ENTER EXAMPLE #7 SOLUTION ON 1040A

• They must each sign the completed form attach their W-2 forms, and include a check 
for $329.
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